
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

10, 784 × 1000000 = ________ 3, 503 × 10 = ________

9, 051 × 10000 = ________ 8, 887 × 100000 = ________

6, 073 × 1000000 = ________ 2, 816 × 10000 = ________

1, 268 × 1000000 = ________ 2, 383 × 100000 = ________

8, 354 × 1000000 = ________ 2, 237 × 100 = ________

1, 206 × 100 = ________ 9, 295 × 10 = ________

10, 837 × 1000000 = ________ 10, 794 × 100 = ________

9, 32 × 1000 = ________ 4, 799 × 100 = ________

10, 809 × 1000 = ________ 8, 676 × 1000 = ________

8, 153 × 100 = ________ 8, 849 × 1000000 = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med ti

10, 784 × 1000000 = 10784000 3, 503 × 10 = 35.03

9, 051 × 10000 = 90510 8, 887 × 100000 = 888700

6, 073 × 1000000 = 6073000 2, 816 × 10000 = 28160

1, 268 × 1000000 = 1268000 2, 383 × 100000 = 238300

8, 354 × 1000000 = 8354000 2, 237 × 100 = 223.7

1, 206 × 100 = 120.6 9, 295 × 10 = 92.95

10, 837 × 1000000 = 10837000 10, 794 × 100 = 1079.4

9, 32 × 1000 = 9320 4, 799 × 100 = 479.9

10, 809 × 1000 = 10809 8, 676 × 1000 = 8676

8, 153 × 100 = 815.3 8, 849 × 1000000 = 8849000
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